
MATERIAL

TITLE :-

ALL DIMENSION ARE IN MM 

DATE SIGN NAME

DESIGN

DRAWN

CHECKED

APPROVED

RRPL

PRAN

PRAN

P.W.

21/08/19

SCALE
PART NO.

-

REV

00

DRG. NO.

21/08/19

Raychem RPG (P) Limited
Ceat Mahal Annexe,
Dr. Annie Besant Road  , 
Worli , Mumbai 400030
Web : www.raychemrpg.com

SS STANDARD JUNCTION BOX

NO. REV.NO. DESCRIPTION DATE DRAWN CHECKED

- - - - - -

FINISH

--

HEXAGON NUT M8

PLAIN WASHER M8

ENCLOSURE EXTERNAL 
WALL

EXTERNAL MOUNTING 
BRACKET

NYLON WASHER 

HEXAGON SCREW M8 x 16

S.S. 304 S.S. 316
SSJ1 - SSJ9                                          1.5MM THK. DAA4101115 DAA4101152

SSJ10 - SSJ18  2.0MM THK. DAA4101116 DAA4101153

BRACKET MATERIAL 
THICKNESS

BOX SIZE FROM
FG PCN

SSJB-EXTERNAL BRACKET-00

WALL MOUNTING BRACKET

-

02

05

01

03

04

NYLON WASHER 05

ITEM NO. DESCRIPTION MATERIAL QTY PCN

1
SSJB WALL  MOUNTING BRACKET DWG. SSJB-
EXTERNAL BRACKET

SS304 1.5 MM / 
SS304 2.0 MM

4 REFER DRW. SSJB-
EXTERNAL BRACKET

2
FULL THREADED HEXAGONAL SCREW M8X16  
(DIN 933)

A2 / SS 304 4 MAA0020249

3 HEXAGONAL PLAIN WASHER (DIN 125) A2 / SS 304 4 MAE0020323
4 HEXAGONAL NUT (DIN 934) A2 / SS 304 4 MAB0020228
5 NYLON IP WASHER ID-8.2 / OD-14.5 / 1.5THK NYLON 6 WHITE 8 JAP0020299
6 ASSEMBLY INSTRUCTION SHEET A5 SIZED PAPER 1 -

* EACH SET CONTAINS :-  
  4 NOS  WALL MOUNTING & ACCESSORIES AS PER BOM

PACKAGING INSTRUCTION:
POLYBAG SIZE: 5" X 8"
FOLD THE ASSEMBLY INSTRUCTION SHEET IN HALF
PACK ALL B.O.M. ITEMS INTO THE POLYBAG

1.
2.
3.

(REFER FG PCN TABLE)



55.0

25.0

7
.3

1
0.

0

35.0

1
2

.3

Ø10.0

55.0

1
2

.0

16.5

R1.0

R1.0

R1.0

2
3

.0

10
.3

28.4

R1.0

12.0

2
6.

0

3
3.

0

R2.6

55.0

10.0 35.0 10.0

6
7

.8

5.8 28.4 1
1

.9

7.5

27
.4

23
.0

2
3

.1

1
0

.3

Ø9.0
2NOS.

                                       PROPERTY OF RaychemRPG (P) LTD.
             ALL RIGHTS RESERAVED AND/OR PHOTOCOPYING THIS DOCUMENT
TO A PERSON WITHOUT RaychemRPG (P)LTD. WRITTEN AUTHORIZATION IS PROHIBITED

MATERIAL

TITLE :-

ALL DIMENSION ARE IN MM 

DATE SIGN NAME

DESIGN

DRAWN

CHECKED

APPROVED

RRPL

MANOJ

A.M.

M.S.

12/09/14

SCALE PARTNO.

-

REV

00 SSJB-EXTERNAL BRACKET

DRG. NO.

(REFER PCN TABLE)

12/09/14

Raychem RPG (P) Limited
Ceat Mahal Annexe,
Dr. Annie Besant Road  , 
Worli , Mumbai 400030
Web : www.raychemrpg.com

SS JUNCTION BOX

NO. REV.NO. DESCRIPTION DATE DRAWN CHECKED

- - - - - -

NOTE :-

2) NON DIMENSIONAL RADIUS - 0.5mm

1) ALL EDGES ARE BURR FREE

3) TOLERANCE AS PER DIN ISO 2768-m STD.

4)                     =Functions-dimensions to be checked
                            (TOLERANCE ±0.10mm)

FINISH

-SHEET X5CrNi18-10 2 
            SS 304 / SS 316

S.S. 304 S.S. 316
SSJ1 - SSJ9                                          1.5MM THK. HAB0200239 ---

SSJ10 - SSJ18  2.0MM THK. HAB0200240 ---

BRACKET MATERIAL 
THICKNESS

BOX SIZE
PCN


